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You should have the following for this examination:
Drawing paper;
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This paper consists of TWO sections; A and B.
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Answer any FOUR questions from section B.
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SECTION A (40 marks)
Compybm
Figure 1 shows a mounting bracket, Draw full size, in first angle projection the fplloWing: . ‘
()  afront elevation in the direction of arrow A;

(i)  asectional end elevation in the directionbfarrow B along XX;
(iii)  aplan view. el o |
Show all hidden details and six major dimensions. . ‘ (40 marks)

St
VAR, s

e
SRR P

]
THREE NOLES @ 13 EACH -
THRO HOLE ¢ 15
C’BORE #32
= & DEEP
~R22 E
4
L M
L 3 3
“ﬁfg; . . .a
~—The figure is symmetrical about XX
— Assume fillet radios
Fig.1

1503/104 2
Powered by: 'www;rha'ﬁfégr}r/\?r:énqhise.com

SR

¢
it




SECTION B (60 marks)
Answer any FOUR questions from this section.

2. Construct the plate shown in figure 2 using a scale of 1:2 (15 marks)

Fig.2 inet o scolq }
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3. Figure 3 shows the incomplete front elevation of two pipes which are joined together. Draw:

(a) the complete front elevation;
) a complete plan; . '
() half of the development of the smaller pipe. (15 marks)
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4. Figure 4 shows a three bar mechanism. Construct the locus of pomt P when point B moves
horizontally to point C and back. : (15 marks)
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5. Figure 5 shows three views of a block. Draw an isometric view of the block with corner A as
the lowest point.

3. (a)
(b)
503/104
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Sketch the following:
@) a woodruff key;
(i)  a parallel shank twist drill.

Draw the layout of the hydraulic braking systems and label the components.
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(15 marks)

(8 marks)

(7 marks)




